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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

1|292

4)

3|429

7)

6|13O

2)

2|796

5)

7|901

8)

3|114

3)

6)

9)

8|871

5|763

6|612

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
) 292 2 398 3  108r7
1 292
ﬂzgz 2(796 8(871
12| 6 80 2 398
09 1/9 71
9 18 64 s 10817
02 16 7
12 116 4, 143
0 0
5. 12815
6. 152r3
7. 21r4
4 143 5 12815 6) 152r3
3[4 29 71901 5(7 63 8 38
3 7 5
12 20 2|6 9. 102
12 14 25
09 61 13
9 56 10
0 5 3
7) 2/1r4 8) 3/8 9 102
6(130 3(114 6612
12 9 60
110 2|4 12
_6 24 HE
4 0 0
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